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Exercice 1

Effectuer les calculs suivants et donner le résultat sous la forme d’une fraction simplifiée :

7 9 1 9 13 3 11 —11 -7
A=Lty2. L S s p=_-_"——."!
ST C=5+3 "1 2 11
9 -1 —13 S | 15 13 10
B 2.2 D=_°4°2 . Fex (=242
13 30 17 50 T31 7 31 x5 +3)
Exercice 2

Effectuer les calculs suivants et donner le résultat sous la forme d’une fraction simplifiée :

4 —15  —13 ~10 ,-13 -13 6 -3 -15
A= — —_—t — = F=—4 —+ —
5 % (5 +45) C=—or (7 +=5) 5 317 31
4 —12 -9 1 - 11 -9 2
_ 4,12 -9 po .-t 9 poll 92
1919 19 1019 10 27 2 3
Exercice 3

Effectuer les calculs suivants et donner le résultat sous la forme d’une fraction simplifiée :

10 -5 7 4 5 9 11 -7 =7

7+3 15 ¢ 9+9 14 3+3 24

-1 -9 -7 7 5 —-11 —16 3 -3
B=—+4+———-— D=—-+-—-_= F=—+4+_—_+_—

2+5 2 4 3 30 5 Jr38 19
Exercice 4

Effectuer les calculs suivants et donner le résultat sous la forme d’une fraction simplifiée :

1 3 5 3 5 6 1 13 -3
16 10 °8 C=9-"31733 % (7 1t3)
14 5 1 3 7 -1 116 1

B . (2 _Z p=_24°1.— p-_t 1.1
5 (g 5 157 38 1 376

Exercice 5

Effectuer les calculs suivants et donner le résultat sous la forme d’une fraction simplifiée :

PR L _13,-18 18 gy, 18 1
- 31 5 20 5 737 4 39 5 30
poby 2.5 p_—9 . =5.10 pob M5

4 3 21 22 13 13 6 5 3
Exercice 6

Effectuer les calculs suivants et donner le résultat sous la forme d’une fraction simplifiée :

5 3 1 7 -5 -1 -7 -3 =7
A= 35) C=5+(g7+57) E=5+5>3
11 12 -2 —11 7  —13 -8 -7 =5
b= —"m75m D=—-G+357) e
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